
   EQUATIONS X²=A EXERCICES 1B 

 

CORRIGE – LA MERCI 
EXERCICE 1B.1 

x² = 5 

S = { 5 ; 5 } 

x² = 16 

S = { 4;4 } 

x²= 0 

S = { 0 } 

x² = 1 

S = { 1;1 } 

x² = -2 

S =   

-x² = -2 

S = { 2 ; 2 } 

-x² = 49 

S =   

(-x)² = 3 

S = { 3; 3 } 

 
EXERCICE 1B.2 

x² – 2 = 3 
2 5 0x    

 
2

2 5 0x    

  5 5 0x x     

5 0 5 0x ou x      

5 5x ou x    

 5 ; 5S    

x² + 6 = 8 
2 2 0x    

 
2

2 2 0x    

  2 2 0x x     

2 0 2 0x ou x      

2 2x ou x    

 2 ; 2S    

5 – x² = -2 
27 0x    

 
2

27 0x    

  7 7 0x x     

7 0 7 0x ou x      

7 7x ou x    

 7 ; 7S    

-13 – x² = 11 
2 24x   

2 24x   

S   

5x² = 15 
25 15 0x    

 25 3 0x    

 
2

2 3 0x    

  3 3 0x x     

3 0 3 0x ou x      

3 3x ou x    

 3; 3S    

3x² = 12 
23 12 0x    

 23 4 0x    

2 22 0x    

  2 2 0x x     

2 0 2 0x ou x      

2 2x ou x    

 2;2S    

17 – 7x² = 3 
214 7 0x    

 27 2 0x    

2 2 0x    

  2 2 0x x     

2 2x ou x    

 2 ; 2S    

6 + 2x² = 5 
21 2 0x    

22 1x   

2 1

2
x    

S   

 
EXERCICE 1B.3 

 (x – 3)² = 7 

 
2

3 7 0x     

   
22

3 7 0x     

  3 7 3 7 0x x       

3 7 3 7x ou x      

 3 7 ;3 7S     

(x + 7)² = 3 

   
22

7 3 0x     

  7 3 7 3 0x x       

7 3 7 3x ou x       

 7 3; 7 3S       

(x – 7)² = 3 

   
22

7 3 0x     

  7 3 7 3 0x x       

7 3 7 3x ou x      

 7 3;7 3S     

(x + 3)² = -7 

S   

 



   EQUATIONS X²=A EXERCICES 1B 

 

(2x – 3)² = 1 

 
2 22 3 1 0x     

  2 3 1 2 3 1 0x x      

  2 2 2 4 0x x     

   2 1 2 2 0x x      

  4 1 2 0x x     

1 2x ou x    

 1;2S   

(2x – 1)² = 3 

   
22

2 1 3 0x     

  2 1 3 2 1 3 0x x      

2 1 3 2 1 3x ou x      

1 3 1 3

2 2
x ou x

 
    

1 3 1 3
;

2 2
S

   
  
  

 

(4 – 3x)² = 2 

   
22

4 3 2 0x     

  4 3 2 4 3 2 0x x      

3 4 2

3 4 2

x

ou x

   

   
 

4 2 4 2

3 3
x ou x

   
   

4 2 4 2
;

3 3
S

     
  
  

 







 

1

x + 3
 

2

 = 2 

 
2

21
2

3x

 
  

 
 

 
2

2 1
3

2
x

 
    

 
 

 

2
2 2

3
2

x
 

     
 

 

 

2
2 2

3 0
2

x
 

    
 

 

2 2
3 ; 3

2 2
S

  
     
  

 

 
 


